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O1.

02.

03.

04.

05.

06.

Two objects repel each other. This repulsion
could be due to :

(1) frictional force only

(2) electrostatic froce only

(3) magnetic force only

(4) either a magnetic or an electrostatic force

Which of the following statement is incorrect?

(1) Friction acts on a ball rolling along the ground.

(2) Friction acts on a boat moving on water.

(3) Friction acts on a bicycle moving on a road.

(4) Friction does not act on a ball moving through
air.

Pitch of sound is determined by its :

(1) frequency

(3) speed

A water tank has four taps fixed at points A, B,

C, D as shown in Fig. The water will flow out at
the same pressure from taps at :

(2) amplitude
(4) loudness

A

Bé +C /

D

(1) BandC(2) Cand D(3) AandB (4) Aand C
The pressure exerted by'a column of liquid is
independent of the \ —

(1) density of the hq«tﬁd

(2) weight of the liquid

(3) depth of the liquid

(4) shape of the container

The figure shows a light z
smooth surface. »....

moving towards-a

Which of the following arrow represents the
possible direction of light ray after reflection ?

2) \
(4) /

(1) e—

(3) \

04.\, T UM & b H
B o o o | sigeaEn 21 o e g 9 59 fag W

A
" / B +C

) oqd Toh TR ! TereRft et € | I8 T 8 wendr §-
(1) Hadt =¥ I & HROT

(2) Fact fagaedfas sa & SR

(3) o R T S BRI

(4) = @ FrEhiE = fagaesiiae a1 % HRO
FreAfeied el § %A Tod § 2

(1) 7 TR @ STl Sl S o SR TH0T o € |
(2) U TR = el ATE WS @ ®

(3) FEF W T orel @efehet T ol o ® |

(4) Ta1 @ 7T I BU A W EHOT AL, T €

eaf ] ool iR Bt ©

(1) 3FEh ST 5T (2) T 3T FR

(3) SHehI T BT (4) SH! Tam, g

7, fageti A/B, Cden D W feed

Zﬂ'ﬁ"}«w

(1BWeIC (2) CaaD (3) ATNB (4) AN C

T B WY ERI AT T €A oo Y@ e
(1) 58 & ¥9a (2) 9 & FATH
(3) 59 I TS (4) T ® ITMHR

fo=, yahmet =1 fonor o1 Tt 9ag &1 IR STH i < I
g7

frefafed § SF-9 9 9adT & 9€ gem oo &

e feem o <gmar € ?
(2)\
(4)/

(1) e—

(3) \

Space For Rough Work

Class-IX/02




07.

08.

09.

10.

11.

12.

13.

14.

A sphere of relative density o and diameter d
has concentric cavity of diamter D. What is the
ratio of d/D if it just floats on water in a tank ?

1
1) o (2)[ ° jé
c-1
1 1
20 /3 c /3
© {sw - 1)} @ {3(6 - 1)}

Which one is not a force at a distance ?
(1) Gravitational force (2) Magnetic force

(3) Frictional force (4) Electrostatic force

Work done by a frictional force is :

(1) Negative (2) Positive

(3) Zero (4) All of the above

The current flowing in a copper voltameter is
4.8 A. The number of Cu** ions deposited at the
cathode per minute are x x 1020, Find the value
of x. (approximately)

(1) 6 (2) 12 3)9 (4) 18

A person fires a gun infront of a building 83 m
away. If the speed of sound is 332 ms~!. Calculate
the time after which he hears an echo.

(1) 1 sec. (2) 0.5 sec.

(3) 0.25 sec. (4) 2 sec.

A car starts from rest and movesg(r)hg the
x-axis with constant acceleration 9@ ms™2 for
6 seconds. If it then continues with constant
velocity, what distance will \the car cover i
10 seconds since it started from the rest ?
(1) 236 m (2) 264 m -
(3) 378 m (4) 342 m
An object starting from rest travels 30 m in/first
2 s and 240 m in the next4 s. What will-be ‘the
velocity after 8 s from the start:
(1) 120 m/s
(3) 110 m/s S
Velocity versus time graph _of’a ball ofymass
100 g rolling on a concrete floor is shown in Fig.

Calculate the frictional foree of the floor on the
ball.

100

Velocity (ms™)
—

N A O
o © © & &
IIII

4) 8N

07. 3TfaTeh SFc o de =9 d ot Tiiel b1, D =319 1 Sehfvsd
e ® | A 7 U % ok W ok 8d/D ol S N ?

| b2
W o’ @ (G‘jlj
1 1
20 /3 c /3
© {sw - 1)} i {3(6 - 1)}
08. Trefafed & % fhel 50 W =t & € ?
(1) o HYUT (2) FHEH T
(3) =T T (4) Torgaesifas e
09. =¥ 5o gRI foRaT TN wE BT © -
(1) TS (2) =THS
(3) ;A (4) ST @l

10. . drsl dieediex § yarfed G 4.8 A 3. S W ufd fie
S g Cutt el @ e x x1020 B x ® AA

(). 6, A |
(1) 6 Q) 12 3) 9 (4) 18
11. W =t T B G 83 m ! T W Ak el

izvf% 1 M 332 ms~L e, d1 fr g9 & 915 7%

e G/, TR ORI L |

\ 1 sec: (2) 0.5 sec.

/é; 0.25 sec. (4) 2 sec.

12. T& %R fom & S YRS w991 6 Yhve & fou
9'ms 2 HFId w1 A x-318 & rfew i A 7 1 AR
T qd W FrEg T 9 =erdt ®, 9 10 9%ve & 9% o7
el < a8 FM, 99 o8 fam 9 =om IR F € ?
(1236 m (2) 264 m
(8) 378 m (4) 342 m

13/ UH a5 form § 0 URY # & T2 2 s § 30 m & g4
T HI T qU T 4s H 240 m F T 9T FA T
YRA | 8 s 9% T(q N BN ?
(1) 120 m/s (2) 100 m/s
(3) 110 m/s (4) 90 m/s

14. T3 ¥, T& FFle 908 W PH = ® 100 g FFAE a1
TS T SRT-THT T A T 2 | S R g & T 5

T IO H .
100+
—  80-
g[ 601
= | 40+
201+
0 +——— -
01 2 3 4 5
le; (s) —
() 1IN (22N (3)4N (4) 8N
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15.

16.

17.

18.

19.

20.

21.

22.

The weight of any person on the moon is about
1/6 times that on the earth. He can lift a mass
of 24 kg on the earth. What will be the maximum
mass, which can be lifted by the same force
applied by the person on the moon ?

(1) 144 kg (2) 72kg (3)24kg (4) 4kg

An object weight 20 N in air. When immersed
fully in water, it weighs only 14 N. The weight of
the liquid displaced by the object will be :

() 3N (2)1.5N (3) 6N (4) 14 N

The power of a motor pump is 2.5 kW. How much
water per minute the pump can raise to a height
of 20 m ? (Given g = 10 ms™2)

(1) 500 kg (2) 750 kg (3) 1000 kg (4) 1250 kg

If velocity of sound in air is 330 ms™!, calculate
frequency when wavelength is 0.44 m.

(1) 750 Hz (2) 1500 Hz

(3) 375Hz (4) 900 Hz

A particle is moving in a circular path of radius
r. The displacement after half a circle would be:

mr

(1) mr (2) 5 (3) 2r (4) V2r

The atmosphere is held to the earth by :
(1) rotation of earth

(2) gravity / -
(3) earth’s magnetic field ‘

(4) clouds

At a given temperature Kkinetic theory of gas
predicts that- . ¢

i

(1) All the molecu}e/have the same average
speed. ’

(2) All the molecule have/‘:;le same average K.E:
(3) Lighter molecules have higher averge K.E.
(4) Lighter molectle-have lower average K.E.
Which of the following statements are correct?

[. Temperature changes during the change of
a state.

II. Dry ice gets cohverted directly into gaseous
state under normal atmospheric conditions.

I1I. Higher boiling point.of liquid indicates weaker
intermolecular forces.

IV. Latent heat of vaporisation is generally
higher than the latent heat of fusion for a

substance.
(1) Iand IV (2) Il and IV
(3) I and III (4) III and IV

15. =AW fordl ot e o1 oS, 9ol Wkl W 1/6
TN ® | € YeAl W 24 fRlle & FeHE i 3o Hehal 21
rfesha geam™ 1 B, 59 =it R safw g e T
M 96 W IS S Feh?

(1) 144 kg (2) 72kg (3) 24kg (4) 4 kg

16. T 9% 1 a1 H 95 20 N T | 51 38 Tt & qofd: garn
ST & ol 391 o el 14 N ® | g g1 fereenfua ga
T IS BIM-

(1) 3N 2)1.5N (3)6N (4) 14 N

17. U HieX T &t 9ifskd 2.5 kW ® | 99 wfafaee fepan ot
20 T i HEE % =1 Hehell © 2
(fezn =, g = 10 ms™2)

(1) 500 kg (2) 750 kg (3) 1000 kg (4) 1250 kg

18. G o & e&fd i a 330 ms~! ® o & e
0.44.m ®, df AR =t TUET H |

(1) 750 Hz (2) 1500 Hz
(3) 375 Hz (4)'900 Hz
19. TH 9% r o T B i R @R, A ID &
N\, 3T feed qe B Efe-

(1) £ @% @2 @ 2r

00. g W TR R

\ %)q@@wﬁ@w
e
(8). 92 I, THHA & H HRU
(4) IR_A & FRI

21, e fed W am & fou i = fas fagid 9 sad ©
A

(1) @t arugsti 1 affed el THE e 8

(2) @t arupet Y Sl Tias S GHH B 2

(3) Bk YU T S=d ST TS Sl BT T

(4) Boh oTupeH @t fre ofdd wifast St B 2
22. frfafed & @ a8 9 %od g €2

(I) erereern URem & &9 a9 § IRerH gl 8

(II) T IHEA <9 H Yo% 9t iy g erawen §
ufafda g 2

(III) 39 1 I=d FHIh ool ST-advaesh aa ol Fraa
Fl T

(IV) foeht a=ed & o aroae it o1 ST |H=Ia: 7o i
T S 3t et @l

(1) I 3R IV (2) 11 R IV
(3) II &R I1I (4) III 3R IV
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23.

24.

25.

26.

27.

Based on the statements given here choose the

correct answer.

(I) In polar regions aquatic life is safe in water
under frozen ice.

(I) Water has a high latent heat of fusion and
the upper portion of ice does not allow the
heat of the water escape to the surrounding

(1) (I) and (II) true and (II) explains (I)

(2) (I) and (II) are true but (II) does not explain (I)

(3) Only (I) is true

(4) Only (II) is true

The rate of diffusion is affected by which of the

following .?

(1) Temperature

(2) Size of molecule

(3) Steepness of the concentration gradient

(4) (1), (2) & (3)

Which of the following statements best explains

why a closed balloon filled with helium gas rises

in air?

(1) Helium is amonoatomic gas, whereas nearly
all the molecules that make up air, such as
nitrogen and oxygen, are diatomic.

(2) The average speed of helium atoms is higher
than the average speeds of air molecules, and
the higher speed of collisions with the balloon
walls propels the balloon upwards.

(3) Because the helium has a lower molar mass
than the average air molecule,the helium g
is less dense than airg

(4) Because helium ha!a lower molar mass
than the average air molecule, the helium
atoms are in faster motion. This means that
the tempeature of thedheliu
the air temperature. Hot gases tend‘to rise.

Which of the following is a characteristic of both
mixtures and compound?

(1) They contain éorﬁpﬁﬁénts infixed proportions
(2) Their properties are the same asithose of
their components

(3) Their weight equals the sum,of-the weights
of their components,

(4) Energy is given out when they are being
prepared.

Brownian movementis due to : —

(1) temperature fluctuations within the liquid
phase.

(2) attraction and repulsion between the charges
on the colloidal particles

(3) impact of molecule of the dispersion medium
on the colloidal particles

(4) convention currents.

23.

24.

25.

26.

27.

el f&3 T wmeR W SN WEl W gH -
I g &= § Seid Stod St g8 9% & ™ 5ia |
grfera T 2l

II. el % 7ol 1 T ST Sd Bl & 9 9% 1 Sl
TN A I I F e H Frher T §

(1) (I) T () TF & de0 (1), (I) T SR HLT 2

2) (%1) qn (1) T € Ak (I1), (I) 1 T &
|

(3) Fad (I) T B

(4) Saa (I1) FF

frefafea & @ ffe gR1 faawor &1 T goifaq eidt €2

(1) a9

(2) ST =1 SRR

(3) HIUT JIUTAT b Feferdl

(@) (1),(2) 7= (3)

frefafed s o

T ol e

& A ] ¢ % Aoy
o S I3t 22

W) ifem g 2, S wia geft o1 i
1 T i © S fep TggieT aen sfeRdse,
/_SWTFUW%

/u

Sifergm, T 1 ATd =, g & S7upe i iea

<[l .27 BIe, € e el i <IaR § Sed = 9

G, e[l FW SO B

(). Hiifeh Elferam 1 WeR-3oaHM a1g & 379 % 3
TAM 9 w9 Bl €, GfeEd 9 g it erian %u
B R

(4)./ iR Fferm w1 HeR-goaHH a1g & 7] % I

TAU © HH Bl €, Eifedn WA St i oSt gl

21 TURt 1ed I% gen w1 Eiferd & q T & A9 9
arfrer g &1 T T S sed B

frefefea & @ im fasgor qen difies S 1 stfiererm €2

(1) 379 fek ffvem sga o wd €

(2) ST TUI, Sk ARl & O & HE B 2

(3) ST WR Tk AR % 9R & 4N % aeR B B

(4) St aER Frererd! @ St9 ST i g 21

s Tfd g 2-

(1) 59 Toee & 37X a9 H 3aR-¥e[d & &R

(2) HIATEE! HUN & AT o o= SHHUT qeN YfahsoT
HR

(3) HIcATzEl HUT R IR AW & V[ & IS B
HR

(4) GoEA ¥R & &R
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28.

29.

30.

31.

32.

Which of the following statements is/are 28. fyefafed ¥ O sF O ®u 9 /87

; ?
1}'1cor(r:ect. } ' - . . (I) weré 9 e & fau sus=w fafy =0
1] entrifugation method can be used to ITE fEa ST gedn %|

separate butter from cream.

(II) et S &1 GiF oTe@a o g1 9ok foRan ST

(I) Coloured component of blue ink can be

separated by evaporation. BETI]
(III) Chromatography can be used to detect drugs (1) & o Tefid 9<ed a1 qa1 @ & fog avfera
in blood. (SHIHSHITRY Yokt IYENT fomal T Wehal 2|
(IV) Camphgr can be separated from salt by (V) 7ok § HE B TR faf R ST e T T
crystallisation.
(1) Il only (2) II and III only (1) = 11 (2) et 11 $i 111
(3) IV only (4) I and IV only (3) ®ad IV (4) e 11 3R IV
Study the given Venn diagram carefully. 29. f& ™ oF SR@ H Wﬂﬁw I H
‘b.&’
g
Which of the following colloidal systems correctly
represent points 1, 2 and 3?
1 2 3
(1) Mist Whipped cream Dust fumes
2 Hair Cream Pumice stone o o
@ M (2) 3 TR FE EIL]
(3) Paints Smoke Cloud ; i 3
(4) Coloured Wings of B?tater & ) . 3
glasses  butterflies ‘ ‘. (4] T fafertl = e He
Which of the following statement is not correct? 30. frafafad & F # @ Had =& 7 22
(1) A compound is a pure substance (1) Hfirr T s e 2
(2) Compound is homogeneous in nature . 2) TR THEAET T F B
(3) glcérrr;};(;ll{md alw contains two or more @) AT & T @ W D @ e T B &
(4) Compound can be sepdrated into constituent (4) AR I % «Aifaew Ffshaneti gRI ST T § gerh
element by some physical process. feman T weha 21

An ionic compound of ele t M*and.chlorine 31. d@ M a2 Fiiliie & Tk A™TE s i I MCly 2

has the formula MCl;. The molecular mass of MCl, #1 Tfoae T 118.5 21 a9 M 3 SiiaEe &1
MClj is 118.5. What w111 be the molecular mass
anfoereh S| F B2

of the oxide of element M?

(1) 28 (2) 44 (3)"72 (4) 99 (1) 28 (2) 44 (3) 72 (4) 99

A mixture of sulphurand iron filings is heated 32. T don i <ol & fagor i stfuew T R eraww

strongly to obtain a-residue. Which of the e e 21 Fr=feted § S o799y 1 sAfaenafors gl

following is not aicharacteristic property of the T

residue? )

(1) It can be separated into sulphur and iron (1) “iifoer fafer gRT &9 ek Ao oite =oi # Yo foen <
filings by physical methods. Gehal B,

(2) Its composition does not change from one part (2) ST HoeH TH 9N W S A § uRardd T8t g 2
to another.

(3) Its properties are entirely different from those (3) T o1 MerF =M it It & fd: fa= i
of sulphur and iron filings. (4) 7% 3T § g 9o e i § fr=t ¥

(4) Its appearance is different from those of
sulphur and iron filings.
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33.

34.

35.

36.

37.

38.

Chemical analysis of a carbon compound gave
the following percentage composition by weight
of the element present in it. carbon = 10.06%,
hydrogen = 0.84% chlorine = 89.10%

Calculate the expirical formula of the compound

(1) CoH,Cl, (2) CHCI,

(3) CHCIy (4) C4H4Cly

Calculate the number of moles and atoms that

in 1 gm of helium.

(1) 0.25 moles, 1.505 x 1023 atoms

(2) 0.3 moles, 1.505 atoms

(3) 0.25 moles, 1.505 x 10723 atoms

(4) 0.3 moles, 2.0 atoms

How many atoms are present in 0.25 mole of

S03?

(1) 1.505 x 1023 atoms of sulphur and 4.515 x 1023
atom of oxygen.

(2) 4.15 x 1023 atom of oxygen and 2.505 x 1022
atoms of sulphur

(3) 2.505 x 1023 atoms of sulphur and 3.505 x 1022
atoms of oxygen.

(4) 3.05 x 1022 atoms of sulphurand 2.515 x 1023
atoms of oxygen.

20.8 g of BaCl, on reaction with 9.8 grof Hy SO,
produces 7.3 g of HCl and some amount of BaSO,.
The amount of BaSO, formed is

(1) 23.3g (2)20.8g (3)9.8 (4) 10.4g

What is the reason fortzﬂe identical chemical
properties of all the isotopes of an‘elements?

(1) same number o \)alence electrons
(2) same number of protons

(3) same number of neutrons

(4) Both (2) & (8)

Few statements 're“ga‘ra"ing the distribution of
electrons in the energy shells are given. Which
of the following statements is-not correct?

(1) For fourth energy shell (N),sthe maximum
number of electrons is 32according to 2n?
rule.

(2) When L is the outermost shell of an atom,
atom can accommodate a maximum of 8
electrons only.

(3) The filling of the fourth shell begins even
before the third shell is completely filled.

(4) Fifth shell can accommodate maximum 50
electrons according to 2n? rule.

33.

34.

35.

36

37.

38.

Tk Fa AT 1 THEAE favayo € 3ud Iufted d@
%1 MR gR Trefafed gfaed Goee <d1 81 = 10.06%
BIESH = 0.84% TR 89.10%

ATk & Al G HY TOAT Hi-
(1) CoHyCl,y (2) CHCI,
(3) CHCl, (4) C4H,Cl,

1 7 fefem o 37 Hiel qe WAV S GE 9 &

(1) 0.25 e, 1.505 x 1023 wmmy]

(2) 0.3 Hid, 1.505 9=H]

(3) 0.25 e, 1.505 x 1023 wxamy]

(4) 0.3 HId, 2.0 TH]

SO4 % 0.25 Hid H faha T 27

(1) Wigre & 1.505 x 1023 wHW] qorr sAfde" &
4515 x 1023 wAT]

(2) Sl & 4.1
2.505 % 1022

X 1023 WA qen, HE &

\\(3) T F 2505 x 1023 wwivy qen SR &

» 3.505 %' 1022qzHro]

(4 % 3.05,x 1022.gqAm] R i &
2.515 x 1023 xmmmy

%).Sg B&CY, F1 9'8 g H,S0,, % Tef sifafan 1 W
7

.3g HCL 721 BaSO, &I %z #m fafdq &t €1 fafdq
BaSO, &1 A1 &

(1) 23.3¢ " (2)20.8g (3)9.8g (4)10.4¢g

fordll dear & |t TmeafTeRl & T TEEaeE oI w1 R

HN] 72

(1) HAISTRAT SR i THM He

(2) WA I ¥HE He

(3) =l =t wAE FE

(4) (2) Tem (3) <

Tt T H el Hl % o & day | 9 wed i ™

g Frefafea wemi 9 9 S8 @ o & 82

(1) =gl 1 &R (N) & fow 2n2 fram & ST ER soeer
F1 HETH F& 32 T

(2) ST foRdl TRETY] 1 SMEFAH HE L B @ I8 Tehad
ol 8 TSR ! FHANSA HY Hehell B

(3) =el a1 W eI w9, JAA Hel H g
ofd: 9 9 Ted & Y& & S R

(4) di=et wan | 2n2 fE9 % TER 50 3eee ® Thd
&
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39.

40.

41.

42.

43.

44,

45.

Mg2* and F~ions differ in which of the following
fundamental particles?

(1) Electrons, protons, and neutrons

(2) Protons & neutrons

(3) only protons

(4) Neutrons & electron

Energy of an orbit :—

(1) Increases as we move away from the nucleus

(2) Remains same as we move away from the
nucleus

(3) Decreases as we move away from the
nucleus

(4) None of the above.

Endoplasmic reticulum's membrane is similar
in structure to

(1) Cell wall

(3) Plasma membrane (4) Tonoplast

©

\
(M

(2) Nuclear membrane

,\@ /

Q)

(1)

Which diagram show meioticidivision.
(1) Only T' . [(2)#Only 1"

(3) Both (4) None of the above

The movement of water meolecules~through a

selectively permeable,membrane is.called.
(1) Translocation (2) Osmosis
(3) Active transport / (4) Imbibition
Agaricus belongs to—
(1) Monera (2) Protista
(3) Fungi (4) Plantae
Egg laying mammals is

(1) Echidna (2) Platypus

(3) Kangaroos (4) Both (1) and (2)

39.

40.

41.

44,

45.

Mg2* qen F- ameH frefefed o 9 o difers soi o
i1 22

(1) SeierMA, WIefT qenm =g

(2) I e =T

SEEERIEE

(4) =LA T el

forelt ey =t eli-

(1) &<t 2, <o g9 TR § R 9 2

(2) T Tl ®, S & AR ¥ T WM T
(3) et €, S BH A% ¥ S T

(4) S HE T
FHd:gge wifcten 1 fooe 36! G & TAE B-
(1) =it fafa (2) fserta et

(3) s fereett /<4) Eig kit

/.

\
(I)

,,<

(1)

ﬁﬁﬁmﬁaaé@ﬁwﬁmﬁ%—
(1) ad 1 (2) aa 11
(3) < (4) ST HE T |

S o T[T 1 G TR fereet R YaTg Il Sheard
3

(1) foremon (2) TUER

(3) wfsra afema (4) a3
wifteE Heifed € -

(1) == (2) wifewn

(3) TE (4) =i

AU T A WA ® -

(1) Tfereem (2) <o

(3) FrE (4) (1) Tem (2) <
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46. Choose the correct option regarding given
diagram.
Plant Tissue
5
v N ¥
Apical Lateral | C | | D | | E |
tissue tissue

47.

48.

49.

50.

S1.

52.

Parenchyma Collenchyma Sclerenchyma Xylem  Phloeom

(1) A-meristematic tissue, D-complex
permanent tissue.
(2) E-complex permanent tissue,

B-Meristematic tissue

(3) C-Intercalary tissue, D-Simple permanent
tissue

(4) A-permanent tissue, B-Meristematic tissue
Correct zoological name of ostrich is—

(1) struthio camulus (2) Struthio Camelus
(3) struthiocamelus (4) Struthio camelus
Helicobacter pylori was responsible for

(1) AIDS

(3) Mouth ulcers

(2) Peptic ulcerse. &
(4) Both (2) azid (3)

Neutrophil, Eosinophils, Platelets, Monocytes,
Bone, Areolar Tissue, Cartilage, Cardia
Muscles, Smooth Musc;Zé, Adipose Tissue.

How many belongs to ¢
(1) 5 (2 8 (3) 4 (4) 10

Girth of stem increase 'dué to présence of—

nective tis

(1) Apical meristem (2) Intercalary meristem

(38) Lateral mesxistem (4)

Choose the correct pair

(1) Robert Hooke — Nucleus

(2) Schleiden, Schwannj Virchow =.Discovered
living cell

(3) Purkinje — gave term cytoplasm

(4) None of the above

(i) The covering or protective tissue in animal
body.

(ii) Cube shaped cell forms the lining of kidney
tubules and ducts of salivary glands.

Given characters belongs to which tissue
(1) Epithelial tissue (2) Connective tissue
(3) Muscular tissue  (4) Neural tissue

148.

46. feu MU s & fow @@l fosmeq 9+ -

i mUd
i
Ve iz
f K0 C D E
Y L c | [ D] | E |

v v v ,
P Rell ek o K ek Ld pB kek tkye  Yylse

(1) A-fiveer fassaras , D-Sifed Tl 33
(2) E-Sifet Tt 39, B-¥iueet fassaas
(3) C-eafdte 3T, D-TXe TR I0h

) AIDS & ferm (2) ik s & foru
 pydesem B R (4) (2) @ (3)

49. =fRe, SRR, wieeled, HiFaTe, 21fte], TeR 3T,
sIfRe], g3 miaueh, fest Argdsht, s 39|

379 & e HaSt S § Hefua € -
(1) 5 2) 8 3) 4 (4) 10
50/ @ @ uffY g Suftefd ® HROT S@d © -
(1) ¥fideer fasaimen (2) sT=ifote 3Th
(3) e 3T (4) STrEEm
51. W& g™ 91 -
(1) a2 b - AR

52. (i) =g YRR T M@ =1 & Uk B
(ii) ¥ SRR T HITHT Jaeh Ffetnt I &R 3R @R A

T AIfet S R
fean 7 o R SO & Gefud € -
(1) STRa ITH (2) TS 3qH
BIEENIRESEED (4) <R 3T

Space For Rough Work

Class-IX/09




53. Choose the incorrect option 53. o fased & g4 -
(1) Pisces— (1) IEEE—
(a) exoskeleton of scales
(b) Breathing through gills
(2) Amphibia—

(a) TR 1 9EF hHehld
(b) TAHRST ¥ T

(2) TfEpfo—
(@) Lung in most larva (a) TR oat § e
(b) Slimy skin (b) TR '
(3) Aves— (3) ToH—
(a) Triploblastic (a) Tt
(b) Exoskeleton of feathers o) qj@ﬁ - .
(4) Echinodermata—
(4) THEASHI—
(a) Notochord absent (a) = 3 Crorf
(b) Coelomate N
54. Choose the correct option for the diagram given ()

below. 54, =& fa3 & o9& fawen 94 -

(1) d - companion cell
(2) ¢ - sieve tube

(3) b - sieve plate

(4) a - phloem parenchyma
55. Which one of the following is angiosperrmic plant 55. (/5T ¥ HA st 9g € -
(1) w (2) wifer
(3) AR (4) fren-gq Sera

o0¢ 56. T @ $ i w1 Wl o -

Space For Rough Work Class-IX/010




57.

58.

59.

60.

61.

62.

63.

64.

All cells arises from pre-existing cell was given 57. @ IR, tﬁ_ﬁsﬁ FIfTR 9 3G B ©, I8 fea T

by o
(1) Schleiden (2) Robert Brown (1) oo 510 (2) o T 5N
(3) Rudolf virchow (4) Schwann

The outer membrane of mitochondria is _A ) vc' & (4) ¥H @W
while the inner membrane is _B . Fill the blanks 58. HEEHEN Hi oA fawet A ® el sl faestt_B_®

(1) A-Deeply folded, B-Porous T zordl =t o7

(2) A-porous, B-Deeply folded (1) A-T&T & HeT geT, B-fosu

(3) A-Porous, B-Porous (2) A-fosqrl, B-Te0% § HeT g3

(4) A-porous, B-non-permeable (3) A-fos, B-fox

Which one help in biogenesis of proteins and (4) .A' SR, B-3TIT \ )

lipids 59. T ¥ HiF WA iR fafte & Sewvemo § 7eg i 3
p

(1) Nucleus (1) 4R (2) FHa:HseAl Sfereh

2) Endc.)plas.mic reticulum (3) TSt =T @) = | FE

(3) Golgi bodies

(4) None of the above 60. i favaideh SUMEd i © -

Apical meristem is present at (1) STE\® STUNFT | 2) T ST o

(1) tips of root (2) tips of shoot (3) TR ), ST R (4) (1) 320 (2) 2

(3) tips of leaf (4) Both (1) and (2)

The value of : N+ \/az ¥ \/aQ WOk

a+\/a2—b2 \/a2+b2—b | o1 a2 + b2 bJra—JaQ—b2
\/a2+b2+b+a—\/a2—b2 A Eh‘PéFT%:

2 2 a? b2 a ‘
WL @n  @F . @hen Y ) Py By @
| 62. fA W /BadZC & 31gsh O W fierd @ 99 LBOC ® :

In the figure, the bisectors of /B and £C meet
O. Then ZBOC is :

1 1 (1) 90 + lAA
(1) 90 +=ZA . (@290 +—«C 2
2 —— 2
1 (3) 90+ —-4B
(3) 90 + EZB (4)'None of these
1 2 2
l fd —-n3 3 3_ 3
If x =23 +23  find the value of x> — 6x 63. AR x=2%+2% A x7 - 6xF A W H |
(1) 0 (21 (3):6 () 4 ()0 ()1 (3) 6 (9 4
Three cylinders each height of 16 cm and radius 64. 16 cm S9E q1 MR &1 B 4 c.m 9 F&F A
of base 4 c.m are placed on a plane, so that each Il ! T THTA W 39 TER W@ M § F TI S
cylinders touches the other two. Then the = T e F T F Y 99 99 SeH 3 49
volume of region enclosed between the three 344
cylinders in cm3 is : STiffed & #1 AT cm :
(1) 98(4/3 - ) (2) 98(2V/3 - m) (1) 98(4/3 - m) (2) 98(2V/3 - m)
(3) 98(/3 - 1) (4) 128(2v/3 - 7 (3) 98(+/3 - ) (4) 128(2v/3 - n)
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65.

66.

07.

68.

69.

In the figure given below O is the centre of the 65. = &3 T fe & O 99 &1 %5 €, Wl AB 99 &l haa

circle, line AB intersects the circle only at point
’ B W Yf=s] &l © aef 1@ D %I A
B, and line DC intersect the circle only at point i 3 ® = CFd a4 ﬁgc
C. If the circle has a radius of 2 cm, then AC is : R AR R g1 A g9 T 2 cm B, AAC €
B

D
(1) 4 cm (2) 2+2 cm (1) 4 czg @ 242 em
3) 4+42 4) 2+22
) 4+V2cm (4) 2+242 cm e ) B ANEE
2(v2
. M . 66. 3(://; +j—7 T &
The fraction 3 \/m) is equal to : ( 3)
2V2 243 4 ‘F e = @) 3) Q*F y 5
) 22 @21 @) == 4 = 3
3 3 3 \
Jas>vb>Jo>Jd where d, c, b, a are | 67 \/E>\/B Jc >AJd @ d, ¢,b, a AT qepd HEAd
consecutive natural number. Then which of the | % o9 3F GE?
following is true ? ‘ ‘
Va (g o S
) Va b > e - Vd ~
(2) ¥e=d >Va -+b
) Je-Jd>a-Jb
3) va 4yc >+/b -d
) Va —+c > b —/d /
4y 598 9 8 ot T
(4) None of these S Sxib s
When a number is/divided, the divisor is equal 68. /¥ T T i fersfiad el S & it i, Yot
to three times the remainder or equal to the O BT § A1 IUES % o IR Bl ¢l ARG Aeiw
square of the remainder. If ten times the divisor T T O, IR Ak ¥ S UUES ® HH F TR
is more than the quotient byfa value equal to R I o i)
the remainder, then what is'the dividend? )
(1) 857 — (1) 857
(2) 976 (2) 976
(3) 786 (3) 786
(4) Can not be determined (4) freffe T&f foran s wahan 21

If 2m + 5n and 3m # 4n are two distinct prime 69. A 2m + 5n U 3m + 4n 3 991 FAW=T &AW =,
number’s then the number’s whose G.C.D. is 50 e TS Tew™ FHeRie (G.C.D.) 50 %, 9 © -
is :

(1) 50 m + 150 n and 150 m +20 n (1) 50m + 150 n X150 m + 20 n

)
(2) 100 m + 250 n and 150 m + 200 n (2) 100 m +250 n ¥R 150 m + 200 n
(3) 100 m + 200 n and 250 m + 300 n (3) 100 m + 200 n 3R 250 m + 300 n
(4) S0m +250 nand 150 m + 250 n (4) 50m + 250 n X 150 m + 250 n
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70.

71.

72.

73.

74.

Find the value of x and y of the following pair of  70. fr=fafea tEia gHisl & g0 & fau yfaer fafy 9
linear equation, by using method of substitution: X Ty T T T+ |
x+ay=b;ax-by=c

x+ay=b;ax-by=c

1) x ac + b2 v ab+c b2 b
1 =75 YT ac + ab+c
a“-b a“+b X = ,y =
(1) a?-b a’+b
b2 b-
(2)X=a02+ ,y=a2 © _ac+b2 _ab-c
a“+b a“+b (Q)X_a2+b’y_a2+b
2
(3)X=abQ+Cb’y=a2_E (3)X=ab+02 y:ab_b
a + a + a?+b a’+b
2
@) X:at;_c , =ag+b 4 X=ab—c2 y=ac+b
a’+b a?+b (4 < P AT

Find the smallest value of <’ for which

S 7
3+—x<2x+—
3 2,wherexez.

(1) x>-2.5(2) x>-1.53) x<-2.5 (4 x<1.5 ' (1) x>-25 (2)x >-1.5(3) x<—2.5 (4) x<1.5
In the given figure the value of x° is : \70. Ty Hx U

(4) 90° (1) 60° (2) 70° (3) 80° (4) 90°
Which of the following statements is trae ? 73, frefafed § 99 © Fod o 9

(1) [xxy|=[x]| - |y|, wher
number.

(2) Infinite number of rational Mumber between (2) & 9 gEmst & o= e uRea ged €
two rational numbers.

and'y are'rational o . en
(1) Ixxy| = |x| - |y, 5@ x qon y wfeea derd € |

(3) |x| = —x af& x < O &l x Th uRET He& B
(3) |x| ==xifx <0 where %is a rational numbers.

(4) ST Feft
(4) All the above P T . 2
A bag contains 3 white and 5red balls. If a ball is . Q? H3 :ﬁg H?T S Fﬂgﬁﬁiﬁ ! q&{r @_;T{ o
drawn at random, the-probability that the drawn S et !
ball to red is :
)2 2 >
, : M) 5 @ 4
1) g (@) g
o3 oS
, ; 4) 12 @) 12
B 15 4 15
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75.

76.

77.

78.

79.

A kite in the shape of a square with a diagonal 75.

32 cm and an isosceles traingle of base 8 cm
and side 6 cm each is to be made of three
different shades as shown in fig. How much
papers of each shade has been used in it ?

D

III
E F

(1) 144 cm?, 256 cm?, 16.64 cm?
(2) 225 cm?, 256 cm?, 17.88 cm?
(3) 256 cm?, 256 cm?, 17.88 cm?
(4) none of these

ABCD is arhombus, EABF is a straight line such 76.

that EA = AB = BF. when ED and FC produced,
meet at O, then ZDOC =?

(190" (2605 S ) 45°
Find the values of a and 77.

V741 7 +1 +b\/?

JT+1 N7-1) A

£
() a=2,b=1 (2) 850, b5
-2

B)a=11,b=6 (4)a=?,b=1

What must be added to'3x3+ x2 422% + 9, so that 78.

result is exactly divisible by 3x2 + 7x — 6 ?

(1) 2x+3 (2) 4x£€5 (3) 0 (4) 3x+2
In figure AB| | CD. Find the value of x. 79.
(1) 130° (2) 75°  (3) 155°  (4) 105°

32 cm ool aren Tk SR w6 SR U gafgerg Hgs
FTHeRT SM9R 8 cm @21 311 & H ¥ Y% 9o 6 cm ®,
! FeaER = fafa=t @i & w0 @ a4 21 56 goi®
T &% e TSt SuEn fepw g € P

D

III
E F

(1) 144 cm?, 256 cm?, 16.64 cm?
(2) 225 cm?2, 256 cm?, 17.88 cm?
(3) 286 cm?2, 256 cm?,)17.88 em?2
(4) 38 § w1 T

ABCD T g3l & EABF T Tl 3@ 58 WK &
\.EA = AB = BE

ED @eMEC ] Sl Sl & @ 5 O W
ZDOC="?

(1):90° (2) 60° (3) 75° (4) 45°
alqA b HT AE Jd H

\ﬁ—l xﬁ+1

N N T A+ b7

J7+1 J7-1 + b7

-2
(1)a=2,b=1 () a=0,b=—
-2

B3)a=11,b=6 () a=—,b=1
3x3 + x2 - 22x + 9 H T el W & ufomy

3x2 + 7x — 6 ¥ Yuia: fawfsa & s 2

(1) 2x+3 (2) 4x+5 (3)0 (4) 3x +2
o W AB| |CD B x &I 5F A1 &1 |
(1) 130°  (2) 75°  (3) 155°  (4) 105°
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80.

81.

82.

83.

84.

85.

86.

The radius of a sphere is increased by P %. Its
surface area increases by :

(1) P% (2) P2%
p2 2
(a@”ﬁﬂ% (@) %

How many pairs of letters are there in the word
INTEGRATION which have the same number of
letters between them as in the English alphabet?
(1) Four (2) Five

(3) Six (4) More than seven
How many 2’s are there in the following number

series which are preceded by 5 but not followed
by an odd number ?

135235452452262452678235275
24

(1) One
(3) Three

If .+ stands for ‘greater than’, ‘x’ stands for

‘addition’, +’ stands for ‘division’, <’ stands for
’, ‘=’ stands

‘equal to’, >’ stands for ‘multiplication’,
for less than’ and ' ' stands for ‘minus’, then
which of the following alternatives is correct ?

(1) 5<2x1 + 3>4x1
2)5>2<1-3x4x1
B)5>2%x1-3>4<1
4 5+2%x1=3+4>1

(2) Two
(4) None of these

A G E
G|L]|~?
M;| O, |Q..

(Lo @) Kis' \Ghlis

In the given figure, rectangle, s
triangle represents the regio

of whieat, gram,

maize and rice, cultivationrespectively.
3 1
4 2
5 S ho
< 6 10,
11

Which area is cultivated by rice and maize only?
(1) 9 (2) 8 (3) 2 (4) 7

Fifty students were there in class Eight who took
the Mental Ability Test. Six of the students did
not qualify. Out of the remaining Rohit ranked
14th from the last. What was his rank from the
top?
(1) 34 (2) 31

(3) 37 (4) 30

o |
A
p

80. e et Y R P % | warll St 1 361 I3 &wel
el -
(1) P% 3N (2) P2% M

P2 o P2

®) | P 100 )" B &) 5% 5w

81. X INTEGRATION ¥ =1e®i & fehaet g € < afiisht
U % THM & g | 31eR i HeH 9 €7
(1) IR (2) 9=
(3) ®® (4) ¥ ¥ sifuw

82. frfeifiad we gEen o fohar 2 € S foF 5 § Tt €, W
T wem & &g e €2
135235452452262452678235275

24
(1) T (2) =
(3) I (4) 3T Qo T
83. af% ot aifhew &, HIT T X AT i ha
\ 8, R, & TR & hl giea ww
'R S T A giaa, R €, = AT © R gfed
g qg, &' ‘TeElw giua e @1 dl fefafed |
- ooy a2t 22

‘ 5<2x] «3>4%1
(2) 52<1-3x4x1

8)85>2x%x1-3>4<1

@5 +2x1=3+4>1

A | G| Es

G|L]|~?

M;| O, [Q14
WLl @Ks ©Ols (4) Kg

85. fau 7 o ® emmad, of, 990 iR fauet, s W, =,
g SN WP 1 et a8 i g F)

34.

3 1

4 2

5 /719
(6 10

11

HIF G & Hael dree X THE R Bd B oAU 272
(1) 9 (2) 8 (3) 2 “4) 7

86. el 3 U T=W I o fo=H q@ when # fewm foam
T ¥ 9% 9 S0 ARl g T 9 g H e 7 offew
Y <icgdl T U foman e 9 SHe T @ on?

(1) 34 (2) 31 (3) 37 (4) 30

Space For Rough Work

Class-IX/015




87.

88.

89.

90.

How many independent words can ‘HEARTLESS’ 87.

be divided into without changing the order of the
letters and using each letter only once?

(1) Two (2) Three (3) Four (4) Five

Given question consist of two sets of figures.
Figures A, B, C and D constitutethe problem set
while figs. (1), (2), (3) and (4) constitute the
answer set. There is a definite relationship
between figs. A and B. Establish a similar

relationship between figs. C and D by choosing
the suitable fig. D.

Problem Figures
O] ®© %

A B C D

@Y=

Answer Figures

Sll©

(1) (2) (4) \
\\ ‘ \
Find out from amongst the four Qnétive . 89.
figures which would look like the one when the
paper is folded at the dotted line.
Transparent paper /
: e f
e : O i
O: e Y 4
Answer figures
S Oe R ST
B i [Oe ® Q
© i [Oe ) W L]
(1) (2) (3) (4)
A die is thrown four times and its four different 90.

positions are given’below. Find the number on
the face opposite to 3«

VAVRRY:

(i) (ii) (iii) (iv)

(4) 6

88.

A B
\ A

FG F HH ] g5l To1 SN TAF & Fl had Th ax
I7AM #X HEARTLESS 315 %! fohe Taas =i | faenfsm
e T Hehdt 22

(1) = (2) =
fEu e e A feli & < w2 &) fo A, B, C, 991 D 994
Y2 o € = o (1), (2), (8) T (4) SR T &A1 2
o Aden B o fi=a gaw €1 Sfaa foe D et fot
C T D & = Udl & Heig Ty il

Wk,

O

(1) (2) (3) (4)

(3) TR (4) wf=

(X

=X fashey feelid 39 fod &1 94 &t fag @& ¥ &0 &t
Higy W o Yol B 2

YRGS
B e
° O
[1: e
S e
s o O =7
[e] f(Oe O] @)
©| i O @] i [O
(1) (2) (3) (4)

T 19 i R GR SSTel T SR $He! =R fa= feerfaat
= & T 2 wae 3 & fawla # g 9| w

(4) 6
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91.

92.

93.

94.

95.

Study the figure and answer the question given
below :

Urban 7{;\1 & 7+ Government
employees
12 6) 13
<«——— Men
9 11 14

/ 5 4% Educated

Which of the following represents the educated
men but not urban?

(1) 9 (2) 5 (3) 4

In a certain coding system, rbm std bro pus’
means ‘the cat is beautiful’, tnh pus dim std’
means ‘the dog is brown’ and ‘pus dim bro pus
cus’ means ‘the dog has the cat’. What is the
code for ‘has’?

(1) std (2) dim (4) bro

Answer the question based on the following
information :

“4) 11

(3) cus

(i) A + B means A is the mother of B.
(ii) A — B means A is the sister of B.

(iii) A * B means A is the father of E[

(iv) A m B means A is the brother of B.

Which of the followi
grandfather of P?

(1) P+ N*M*Q

means Q is t
2) Q*N*M +P
(4AQ*N*M—P

Minimum number of straight lines required to
form the given figure is

3) QnMaN*P

(1) 22 (2) 20 (3) 18 (4) 24

Which two months in a year have the same
number of days?

(1) April, July
(3) June, October

(2) April, August
(4) October, December

91. fu =1 31egEa &Y 9o = feu 999 &1 SW <)

‘@Jhﬁaﬁ—udahdemh

12 6)13

<«~1——Vlneh
9 11

14
/5 e—THk

frefafed & #F Rifeq s © ot w=d 71 2
(2) 5

(1) 9 (3) 4 4) 11

92, fwdl Wwfd® 5fd # 'rbm std bro pus' %1 Ha@ 'the
cat is beautiful', tnh pus dim std" s Adeld 'the
dog is brown' 9 'pusrdim bro'pus cus'(=l/ Hdcd

\ . 'has' & foft =1 S&a 27

\ (1 std (3)scus. ~“(4) bro
. 93. frfafen [ 3THR T Y9 %1 S 3|
| (imBWA,Baﬁﬁ%
/"I)A—BWA,BH#TW%I
H“ (iii) A B e A, B 1 fi 31

(iv) A n BHAS'A, B 1 9 21

fifRe 4 foraer Aaed Q, P &1 =T 2
(1P +N*M*Q (2 Q*N*M+P
3) QrMaN*P (4) Q*N*M-P

94, fRu wu fomt & ferw dieft Yeneit &t <graw e 2l

(1) 22 (2) 20 (3) 18 (4) 24
95. o ¥ %M ¥ % 7N, foad fe i w wem guE © 2
(1) i, e (2) @1, e
(3) S, SFHRR (4) TR, fewrr
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96.

Kalyani is mother-in-law of Veena who is sister-
in-law of Ashok. Dheeraj is father of Suddep, the
only brother of Ashok. How is Kalyani related to
Ashok?

(1) Mother-in-law (2) Aunt
(3) Wife (4) None of these
97. Insert the missing number in place of question
mark from the given alternatives.
30 20 18 33 58 32
50% 15 30 15 ?% 100
45 35 12 27 68 42
(1) 50 (2) 0 (3) 10 (4) 64
98. Q’s Motheris the sister of P and daughter of M. S
is the daughter of P and sister of T. How is M
related to T?
(1) Grand mother
(2) Father
(3) Grand father
(4) Grand father or grand mother
99. Complete the series
5,11,23,47,95, .
(1) 191 (2) 161 (3) 169 (4) 190
100. There is a figure (X) with one or more dots pfaced

in it. This figure is followed by four other answer
figures marked (1), (2), (3) and (4) only one of
which is such as to make possible the placeme
of the dot or dots satisfying the same conditi
as in the figure (X). Find the co '

figure in each casef

96. HeAN, SO FT A 7 S ST9F I I T e, G
% Tdl & S 3Tk 1 Sohalld WIS B Hearoh oTeie § Y

Heiferd & 2
(1) 5™ (2) ==t
(3) Tt (4) 78 ¥ FE &

97. fomedl & yeAaTE® fo9gd 1 e @ 9e & W

30 20 18 33 58 32
j\ : :>_15 %15 pj\: i)_mo
5‘(:5 35 3?2 @ 27 58 42
(1) 50 2) 0 (3) 10 (4) 64
08. Q, ! §l, PHI a8 & a2 M 1 5@t 21 S, P&t adt § aen
T 7& &1 M, T 8 &9 Heiferd 2
(1)
@) fr

\ @) T A

(4) =1 A

199. %ﬁ@ﬁ|

- gP11,23,47A85, Al,

L (1) 191 < (2) 161 (3) 169 (4) 190

100. sk To(X) & e wh 01w § it fawg feod €1 @@
ot TR =2 3 7 (1), (2), (3) 91 (4) 1 STYROT FHIdt
 forad Sad t 30 TR § 5 fag & gua wm # o
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GOAL Corporate Branches

ranked N0, 1 Institute

of Eastern India
(By India Today Survey 2020)

Avail the best quality education system uniformly across the corporate branches of GOAL.

PATNA

BUDHA COLONY

Goal Building, B/58,
Budha Colony, Patna - 1

Classroom & Test Centre

PATNA

Near Raja Pul.

Classroom & Test Centre

PATNA
KANKARBAGH

Help Line : 9608360780
Classroom & Test Centre

PATNA
ACHIEVERS CAMPUS

Classroom & Test Centre

PATNA
GOLAROAD

Help Line: 7564902125
Classroom & Test Centre

PATNA

Painal, Patna
Classroom & Test Centre
with residential facility.

Help Line : 9334594165/66/67

WEST BORING CANALROAD
Pushpanjali Mall, 3rd Floor

Help Line : 9334594165/66/67

Tilak Nagar Road, Opp. Rajendra Nagar Terminal,
Near Sahaj Nursing Home, Munna Chowk

Vivek Vihar Colony, Gola Road

Near St. Karen’s High School

GOAL EDUCATION VILLAGE

RANCHI

LALPUR

504, 5th Floor, R.S. Tower,
Lalpur, Circular Road, Ranchi
Help Line : 7564900041/ 42/ 43
Classroom & Test Centre

RANCHI

HINOO

302, 303, 3rd Floor, Indira Place,
Main Road, Hinoo, Ranchi

Help Line : 7564900041/ 42/ 43
Classroom & Test Centre

DHANBAD

OFFICE

Housing Colony, Bartand,

Dhanbad, Jharkhand

Help Line : 9334098595, 9308057050

DHANBAD

CLASSROOM

GOAL Empire, Memko More,
Dhaiya

Help Line

9334098595, 9308057050

BHILAI

® Shop No. 166, New Civic Centre
= 139, Zonal Market, Sector 10
Help Line

07884013502, 09826943595

RAIPUR

Beside Vidya Hospital,
Shankar Nagar

Help Line

07714060711, 07415884100

DELHI

Shop No. 2, B-4,

Upper Ground Floor,
Kalkaji, New Delhi- 110019,
HelpLine: 7564900045

PATNA (Corporate Office) :
B-58, GOAL Building, Budha Colony,
Patna - 800001

& 9334594165/ 66 / 67

i

LIBRARY

RANCHI (Classroom & Head Office) :
504, 5" Floor, R.S. Tower, Near Pantaloons,

Lalpur, Circular Road, Ranchi

'Educational Services Pvt. Ltd.

Nation's Leading Institute

& 7564900041 /42 /43

¢ FACILITIES e

HOSTEL

SEPARATE BATCH
FOR BOYS & GIRLS
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